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Math 30-1 Chapter 1 Review
Function Transformations

Name ___________________________
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Math 30-1: Chapter 1 Review Assignment

Function Transformations
Answer the following questions.  Remember to show all your work.

1. Given the graph of 
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2. Given 
[image: image5.wmf](

)

2

ykaxh

-=-

, 
[image: image6.wmf]1

a

=-

, 
[image: image7.wmf]0

h

>

, and 
[image: image8.wmf]0

k

<

, in which quadrant is the vertex? 
(RF2)
3. Given the functions 
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, describe the transformations the will transform 
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4. The transformation of the function 
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 is described by the mapping notation 
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.  Describe the transformations on 
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5. The graph of  
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 is below left.  The function 
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6. Given the graph of 
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below left, determine the equation of the graph below right 
in the form 
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     New equation: ______________________
7. If you were given the graph of 
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, describe the translations you would need to draw the graph of 
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8. The graph of 
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 is transformed into the graph of 
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.  The domain and range of each functions is shown below.  Complete the chart by filling in the domain and range for the graph of 
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9. The ordered pairs below represent possible transformations of the point 
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 on the graph of the function 
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If 
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 undergoes the following single transformations, identify the coordinates of the corresponding point P on the new graph.
a) The corresponding point on the function 
[image: image35.wmf](

)

yfx

=-

 is point number _______.
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b) The corresponding point on the function 
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 is point number _______.
(RF3)
c) The corresponding point on the function 
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 is point number _______.
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d) The corresponding point on the function 
[image: image38.wmf](

)

yfx

=-

 is point number _______.
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10. The graph of the function 
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 is transformed to produce the graph of the function 
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 as shown below.  Determine an equation for 
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11. Given the graph of 
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 below, sketch the graph of 
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12. Given the graph of 
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 below, sketch the graph of 
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13. The graph of  
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 is reflected in the x-axis, stretched vertically about the x-axis by a factor of 
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14. If the point (-4, 7) is on the graph of 
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15. Given the graph of 
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 below, determine the equation of the graph below right.
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        New equation: ______________________

16. Describe a sequence of transformations required to transform the graph of 
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17. Given the graph of 
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below left, determine the equation of the graph below right.
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   New equation: ______________________

18. Given the graph of 
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 below, determine the equation of the graph below right.
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         New equation: ______________________

19. The graph of 
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 is reflected in the y-axis.  Determine the equation of the new graph.
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20. The graph of 
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 is shown below.
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For each transformation of 
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 indicated, the invariant point exists at point number:
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21. Given the graph of 
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 below, sketch the graph of 
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22. Explain a strategy for graphing 
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23. Algebraically determine if the funtions
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24. a) Given that 
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, determine the equation of 
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b) What restrictions must be put on the domain of 
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 so that its inverse is a function?

(RF6)
�





�





�





�





�
































�





Point 1:  � EMBED Equation.DSMT4  ����
Point 3:  � EMBED Equation.DSMT4  ����
Point 5:  � EMBED Equation.DSMT4  ����
�
Point 2:  � EMBED Equation.DSMT4  ����
Point 4:  � EMBED Equation.DSMT4  ����
Point 6:  � EMBED Equation.DSMT4  ����
�






�
Domain�
Range�
�
Graph of � EMBED Equation.DSMT4  ����
� EMBED Equation.DSMT4  ����
� EMBED Equation.DSMT4  ����
�
Graph of � EMBED Equation.DSMT4  ����
�
�
�






�





�





�





�





�





�





�





�





�





�





�





�





�





�








Date reviewed with teacher:





Signature of teacher:











[image: image102.png]


[image: image103.png]


[image: image104.png]


[image: image105.png]


[image: image106.png]


[image: image107.png]


[image: image108.png]


[image: image109.png]


[image: image110.png]


[image: image111.png]


[image: image112.png]


[image: image113.png]


_1409036078.unknown

_1409049260.unknown

_1409049364.unknown

_1409051708.unknown

_1409052296.unknown

_1409052307.unknown

_1409052318.unknown

_1409051962.unknown

_1409049738.unknown

_1409049739.unknown

_1409049381.unknown

_1409049542.unknown

_1409049324.unknown

_1409049351.unknown

_1409049288.unknown

_1409038671.unknown

_1409038888.unknown

_1409038899.unknown

_1409045207.unknown

_1409038864.unknown

_1409037856.unknown

_1409037941.unknown

_1409038215.unknown

_1409037956.unknown

_1409037874.unknown

_1409037885.unknown

_1409037412.unknown

_1409037855.unknown

_1409037009.unknown

_1409037398.unknown

_1409037028.unknown

_1409036155.unknown

_1409036167.unknown

_1409034272.unknown

_1409034513.unknown

_1409036005.unknown

_1409036022.unknown

_1409034811.unknown

_1409035116.unknown

_1409035117.unknown

_1409034848.unknown

_1409034543.unknown

_1409034396.unknown

_1409034493.unknown

_1409034374.unknown

_1408780575.unknown

_1409034049.unknown

_1409034107.unknown

_1409034230.unknown

_1409034060.unknown

_1408784544.unknown

_1409034019.unknown

_1408784577.unknown

_1408780925.unknown

_1408776384.unknown

_1408777083.unknown

_1408777676.unknown

_1408779195.unknown

_1408779296.unknown

_1408779321.unknown

_1408779267.unknown

_1408777810.unknown

_1408777900.unknown

_1408777229.unknown

_1408777306.unknown

_1408777157.unknown

_1408776720.unknown

_1408777068.unknown

_1408776701.unknown

_1408530337.unknown

_1408535715.unknown

_1408535747.unknown

_1408535203.unknown

_1408530129.unknown

_1408530295.unknown

_1408530108.unknown

_1408529436.unknown

